
ICS Part 2 Computer Science Online Test

Sr Questions Answers Choice

1 How many types of relationship are there?
A. 2
B. 3
C. 4
D. 5

2 Microsoft Access saves the database file with the extension:
A. .mdb
B. .msdb
C. .madb
D. None of these

3 In relational database a table is also called a:
A. Tuple
B. Relation
C. File
D. Schema

4 Which is related to modality?
A. Optional
B. Mandatory
C. Unidirectional
D. Both A &amp; B

5 The foreign key is found in:
A. Parent table
B. Dependent table
C. Pivot table
D. Index table

6 Which one displays the result of a query?
A. File
B. Field
C. Access
D. Reports

7 How many characters Memo can store?
A. 1024
B. 64,000
C. 16
D. 4

8 Query is a statement in the SQ that extracts specific:
A. Information
B. File
C. Application
D. Wizard

9 A constraint that no primary key should contain nulls is known as:
A. Normalization
B. Dependence
C. Entity integrity
D. SQL query

10 The primary objective of the Entity-Relationship diagram is to represent:
A. Entities
B. Relationship
C. Association
D. All of these

11 Any thing about which you store information in the database is known as:
A. File
B. Inherent
C. Entity
D. Relation

12 The table in which is found is called Dependent Table.
A. Foreign Key
B. Control key
C. Primary key
D. Sort Key

13 A program used for producing an on-screen or printed documents from the database is
known as:

A. Security
B. Report generator
C. Query
D. SQL prompt

14 A ------------------- Auto form displays one record at a time

A. tabular

B. Columnar
C. datasheet
D. justified

15 The keyword used to transfer control from the body of loop to the start of loop is
A. Exit
B. Continue
C. Break
D. End



16 The keyword used to come out of the body of loop is
A. Exit
B. Continue
C. Break
D. Ebd

17 A loop within another loop is called
A. Inner loop
B. Nested loop
C. Counter loop
D. None


